THE UNIVERSITY OF JORDAN PHYSICS DEPARTMENT

PHYSICS 105 (2nd EXAM) SEMESTER (Nov. 29" ,2016)
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g=9.8 m/s’ pyarer = 1000kg/m’®, Po=1.013 X 10° Pa, pp1poq = 1050 kg/m’

Q1) A boy lifts a 4 kg mass vertically upwards a distance of 2m at constant Spee
done by the boy is

d)-19.2 e)-78.4

, which of the following statements is correct?

kinetic energy.
Vo

e starts with an 4

20 m. If the coefficient of

30°

bottom of thethill. a
a)15.7 -7 c) 16.8 e)8.2

Q4) The average power output of a 60 — kg running athlete is 400 W. The work (in k J) that he does in 5
minutes is:

a8) 60.0 c)0 A5 e) 90

Q5) The figure shows a see — saw of length L = 6 m pivoted in the
middle ai point O. A 20 — kg boy sits at point A and a 30 kg boy sits 0

at point B. How far from point O (in m) should a 15 kg child sit so '
that the see —saw is in static equilibrium?

a) 2 to the right of O 2 to the left of O c) 1.3 to the left of O
d) 1.3 tothe right of O €) at point O

Q6) The figure shows the forearm modeled as a beam kept horizontally in static equilibrium by the tension T
exerted by the biceps muscle. The arm rotates about point O at the elbow joint. The weight of the forearm is
W =12 N. If the forearm carries a weight W1 = 15 N, calculate the tension T (in N} in the biceps muscle to

keep the forearm in static equiiibrium in a horizontal position.

T
a) 34 b) 106 ¢) 20 t o
>
d)12 m os
<+ >
5c¢cm i 20 em

W ; w1



Q7) In the figure, the weight of the uniform beam W = 500 N, and its length
/=8 m. A massless cable holds the beam in static equilibrium at an angle of
45° with the x-axis. The horizontal component of the hinge force (in N)
acting at the joint (point O) is:

[@ b) 352 ] 61250 |

d) 500 e) 707

Q8) A 60 — kg man just floats in water with all of his body below the wat
What is his volume (in m®) ?

a)l.2 [b) 0.08

Q9) A biood vessei of radius r splits i
v, then the velocity in each of the smal

¢)9v/4 d)16v/3 e)v

Q \WB‘

figure a long evacuated tube withits\

n water, The water tank is atmos
(0\Ca

Q11) A 6,0 cm rz difis horizontal pipe gradually narrows
down to 5.0€Cm. If P, =30kPa and V,= 6 m/s, then the
value of the pressure P, (in kPa) is:

4) 39.3 b) 63.5
d) 209.6 e)24.2

Q12) An object of density p is placed in a fluid of density pp. Assume the only forces acting on the
object are its weight and the buoyant force. Which of the following statements is correct?

lower end
. The maximum

a)0.76 d)3 e) 6.6

a) ., The buoyant force depends on the density of the object.

b) The buoyant force is due to the increase in the fluid pressure with depth below the fluid
surface.

c) Ifpp > p, the object sinks.

d) Ifpr < p, the object floats.

e) None of the above is correct.

List your final answers in_this table. Only the answer in this table will be graded
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